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2 g 304 (a) 20l & (b) Z 2 U (a-b) [HIS(%) 2 g ZZ0 AN (a) 20l &k (b) Z 2 A (a-b) |HIZ(%)

s o 98,873,633 90,097,299 8,776,334 100.0 s o 98,873,633 90,097,299 8,776,334 100.0

5100 2Z S22t A3 RLNH 10,618,455 12,030,698 -1,412,243 10.7|[4100 2SS 22N RE 10,280,083 10,994,227 —-714,144 10.4
5200 RZ &S =0t A3 RYNH 52,092,907 41,080,089 11,012,818 52.7|[4200 22 S22 st N=RE 46,698,020 41,495,710 5,202,310 47.2
5300 RZES 203 YN 132 152 -20 0.0[|4500 2HE SIS RE 5,001,814 5,068,543 -66,729 5.1
5400 R2ZES2 203 RYNH 433,560 449,560 -16,000 0.4[|4300 2HE 222t N=RE 1,663,758 1,182,589 381,169 1.6
5600 2ZE S22 H 8,930,528 7,501,674 1,428,854 9.0[|4400 2HE SIS N==E 1,300,000 500,000 800,000 1.3
2200 MR Es22et a7 A 178,885 50,000 128,885 0.2[|4600 oldIHl 600,000 600,000 0 0.6
5500 JI=2 Tt= 26,619,166 28,985,126 -2,365,960 26.9|[1200 SXUHES2Z0etN==E 6,285,284 3,002,528 3,282,756 6.4
2200 RS2 2RetiaRE 40,000 30,000 10,000 0.0

4700 D122l Xt= 27,104,674 27,223,702 -119,028 27.4
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}l g ﬂl‘ E = 2o AFOH = AFOH %%’F%
- " = E20I A0 (A) =0fl arou (B) g
5414 JIEt2g 22 78,560 94,560 -16,000
5600 SHE=ESOZQGH2KH 8,930,528 7,501,674 1,428,854
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2211 LHES2ASIOHH 178,885 50,000 128,885
5500 JIx2 Xt= 26,619,166 28,985,126 -2,365,960
5510 JIx2 Xt= 26,619,166 28,985,126 -2,365,960
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Ae2= 22000 094 () ®) s
2 = =2 (A-B)
4128 JIEt N S 2 H| (MEH 1 =) 614,005 791,365 -177,360
4140 MEHEEHI IS RE 500,000 800,000 -300,000
4141 ptetgE B A3 500,000 800,000 -300,000
4180 St HHIAI=RE 270,000 1,030,000 -760,000
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SLZOIS NS HRE 46,698,020 41,495,710 5,202,310
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DEEENIECEET)

o BlatHHE ) =8

2) JIJI & (B2 AY)

450,000,000

450,000,000

30,000,000
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6,117,000

6,117,000

-1,000,000,000

-1,000,000,000
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] =2to ]
= = = ZAO A (A) 20| 4K (B) B & B 2 A (@99
0 HRIBHEZ A (BHI0IS2-2IIMEE) -2,947,000
o HEOIAME -6,876,000
1,066,635 1,056,950 9,685
1,066,635 1,056,950 9,685(1. =211(2019=D1) 238,000,000
1) CHE DI L DbEIE (A 2HI) 238,000,000
0 JIIHAIE ARUH S840 M2 oll&r B (HIE - 237,500,000
o Ol Xt==¢] 500,000
2. XIXHA -229,995,000
1) A2 H YA (A 2H]) -230,000,000
ouWsERY9 2L -230,000,000
2) Z=CIH 0B AE (H2H]) 5,000
ouWs2I+9 OlXk 5,000
3. NE2HLS00(AEE) 1,680,000
1) HUBAIZ (WS 4=2) 170,150,000

14



HE s =24 oM
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= =2tom
=24 (| AFOH = (| AFOH Ak = jun | ctol ;2
. = = Z 206k (A) =0fl arod (8) *-B) & B 2 (B9 9)
o AL (HHAIE2)2 =X 938,000
5142 iz =< 370,000 370,000 0
110,000 189,900 -79,900
5181 J|Etatsty 110,000 189,900 —-79,900|1. JIEtAtSt A0l (A8 ™) =79,900,000
240!
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o JIEt2e| 2B HI-IJIEH-0I Xt 10,000
30) LINC+AFH SH(E HF 01310l 0I) -2,000,000
02019 = HEAFHOIHION(EALY) Brt3 24 -2,000,000
31) LINC+AIR &H(=1) -20,000,000
0 3XES AFSH| BHe 2t -20,000,000
32) LINC+AHE (B M 1) =) -10,000,000
oStMIE T2 )3 24 -10,000,000

33) F=CHI0IE&E (S1728l) 145,212,000
0 ZSEHOIEAE 2019 AL HIl &K Bhat Ol A 2 72( 45,200,000

o ASHHOIEAE ol& F(HE-21(2020.04.16.)) 20,000,000




EEE s
== 214 (| AFOH (| AFOH AF = 22 (S-S
2 5t = =3 | &HR = 0ff &FO8 (A - B) A E 2 H (o9 )
0 (ME)E=SCCO0IEHAE 2019 Al ZtoH B Ol & 80,000,000
0 (ME)ZSECIOIEAE OIXt BHe OlAHHIE QLE(AIYE 12,000
34) HuStars AIOF3HHIOI 01 2H & XS XEAF (S 2H]) 13,451,000
o TXE S AMHH| &M Btz SH 13,451,000
35) NIEENSHESLAMAHMI =2 EHP 17,939,000
o 1. RLRC 1XtH & Ol Xt 1,586,000
1,585,673&X1
o XIgJ|2a gt 16,746,000
16,745,728& X1
o 1. RLRC 2XtE & Ol Xt =& (FE) —393,000
393,000&X1X-1
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37) ANl2IAZ X2 S (S 72H]) 200,000
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- S = 2004 (A) =0l st (8) ) 4B 2 K (29 8)
o 1XHE S OIRIEHE X 100,000
39) JIEFL BH2I I (AHEHE]) -4,000,000
o HLEIIIIXIAM S E I W Bt -4,000,000
40) J1D01 & (Bt HALS) 1,000
o HEAM XA 2 LS A HE 1,000
41) D101 & (A 2HI) 301,000
o ore—Facility =S XA UK Sl EHZ 301,000
42) J1J1 & (7*.LEDH 22 HI) 10,376,000
o JIJ14A ol &k BHE 2B (D1J141-133(2020.05.15.)) 3,000
0 JIJI1&(F.LEDS FHI) Ol & BHE (D101 &~ 10,373,000
431P o1t (L et 41,280 68,040 -26,760|1. &EHHS -26,760,000
22ldl)
1) LEER2|HI(AHEHH]) —-26,760,000
o BRNA B~ -20,760,000
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4420 StDEHE S 1,300,000 500,000 800,000
=27EN
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1) 8E3(AEH]) 800,000,000
020208 HE ABH)| At ST WHISIH ME2 S 557,036,000
020208t H 5% GHEHD| AtstEEH WHISIH &3 242,964,000
4600 ofl5l bl 600,000 600,000 0
4610 ollbl bl 600,000 600,000 0
4611 o8l bl 600,000 600,000 0
1200 EXHEEsCe2 6,285,284 3,002,528 3,282,756
QIS REN
1210 EXN4AAX = 450,000 150,000 300,000
1213 EXNZ22AE 450,000 150,000 300,000 (1. EXNSAEXNXE 300,000,000
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1) A2 ANY (S 2HI) -150,000,000
o EX2 tiEul & &F -150,000,000
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0'194 XIE2A2Z QIEH ALK -30,000,000
1230 RENLFS 5,391,284 2,378,528 3,012,756
NS
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o JIHDJIF2 LI -3,958,000
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0 2R NS AN NS IHIS T 30,000,000
0 2R NS AN NS IHISF 30,000,000
02ARAH XAS HAILM AN&SH EIIHSHLH SH 20,000,000
2) ADIEOIOIE S8S8HPHE (M) 2,000,000
o HIHIZ 2,000,000
3) SEAIEO| AL SR A AFS EH(SH ) 52,740,000
o AJIHIZ7 &I 3,000,000
o (Mg)&JIHIZ7 I 30,000,000
o (Mg)&JIHIE 7t 0123 14,740,000
o &JIHIE(2021) 5,000,000
4) NSENSHEEAHEMI| L CHAMHE (H ) 19,312,000
o1. 1XMHEE HIIHIZALHI(2019720HAIE 012 23) 14,000,000
14,000,000& X1
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(9l ®R)
HE U= SN -
= = = FH0&H (A) 20l At (B) (A-B) & FE 2 A (29 &)
01.2XEE &HIIHIE SH(FE) 5,312,000
5,312,000&X1
5) B35 2Y-STARA SH(S 2H) 26,000,000
0 HUES|LY-STARAIS & Gl & HHE Q& (At Eh- 26,000,000
6. NFWF 119,626,000
1) HUBAtZ (R 8 +2) -3,000,000
o GIEAIGE ARAHS 29 FIIHIS 72 -3,000,000
2) CHEE DI DHelE (21 22H1) 500,000
0 JIHItAIE] Al Db =80l HE Ol & BHE (MIE - 500,000
3) HuStar& A10t3HI0I 0l 2H & XS XEAFY (S 2HI) 38,360,000
0 HuStar& AIOFILOIDIDIHE XS XA S Ol&H HHE 2F 39,360,000
o S/W 20l HIE 2N -1,000,000
4) HuStar& AlOISHHIOIDIH S I S AL EHTHS X 2) 3,360,000
o HHAZ IIMFI| FHI 3,360,000
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